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You have been called for the written test based on the online data furished by you in the web application.
I you have wrongly entered in the web any_ information or you do not possess fi the required
qualification as per our advertisement, your candidature will be rejected.

2. Wea-9, 80 TRl ¥ ToreT WeeA-qReae H A A ¥ I e Fr rafer 02 g 1
The Question paper is in the form of Question Booklet with 80 questions and the duration of the testis 02 hours.

3. mﬁrﬁaﬁamﬁmm%maﬁﬁ%ﬁ#%wmm#wm|

The questions will be objectlve type with four options out of which only one will be unambiguously correct.

4, UAF T FTAT 04 37F gl 3R UeAF T ek FAT TH I Fer S |
Each question carries 04 marks and one mark will be deducted for each wrong answer.

5. eEt & Ieak aa & AT T HTANR SecR-qieerenr & e
A separate OMR answer sheet with carbon coated copy will be provided fo mark the answer options.
6. MWmﬁmmmﬁﬁm ArS/FTeT TIEY & diel IS UsT ¥ MUANR 3ca<-
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You have to select the right answer by marklng the corresponding oval on the OMR answer sheet by
biue/black ball point pen as per the instructions given in the answer sheet.

7. UFH WA % TN 3 Ical e AlAT AT |
Multiple answers for a question will be regarded as wrong answer.
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15.
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Question booklet code printed on the top right comer should be written in the OMR answer sheet in the space
provided.

ma-gmﬁmamamaamaﬁrﬁm

Enter your Name and Roll Number correctly in the question booklet,

mm-mﬁmuﬁwmmwﬁ*ahmw#aﬁMaﬁm

All entries in the OMR answer sheet should be with blue/black ball point pen only.

qreir gler 3% frdiarer i sufPufey & & syt gier-Rere/miciane W gwarRr s aiv|

You should sign the hal ticket only in the presence of the Invigilator in the examination hall.

ek, wile 3 St Y Fegafa e & Sroshy

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not be

allowed inside the written test hall.

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand

over the original OMR answer sheet to the invigilator and retain the duplicate copy with you.

S GfRecTehT 378l 379 I @ whal €

The question booklet can be retained by the candidate.

RIETT & G2 6 & R 31t ot ade gfor aiser A agAfa 78 &1

Candidates are not permitted to leave the examination hall during the first hour of the examination.
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THNRTT- (3TFIOT AFAF) - 9 H. 1401
TECHNICIAN-B (INSTRUMENT MECHANIC) — POST NO.1401

ar fagpfa Aer & fow SruROTaaT YgFd QEr gl
Commonly used materials for wire strain gauges are

(a) el 3R dmE/Nickel and Copper

(b) fA&er 3R @=A/Nickel and Gold

(¢) @ 3R FTe/Gold and Brass

@ =& 3R TgfAfFTA/Silver and Aluminium

ey =t Andy & & A g 9R9Y g g
An energy meter involves circuits for measuring

(a) Feedr 3R URT/Voltage and current

(b) <UiFa 3R TAI/Power and time

(c) dreear 3R afatr/Voltage and resistance

(d) e 3R 9faqe/Current and resistance

BISSIAIERT &1 3T & forv forar Sar §1/Hydrometers are used for
(a) TafRrse u=ica/Specific gravity (b)  3TEAT/Humidity
(c) dTIATA/Temperature (d) dwa/pH

Jd8y Ao STITH ST YA Fgl Bhar Jar §2 / Where is Ladder logic diagram used?

(a) TTHITSHT WNIMAI/ASIC Programming
(b) ST WINTAI/PGA Programming

(c) HIFRATH FAfHIT/PROM Programming
(d) droedt WeanfHT/PLC Programming

PBrafaRT #5f § F Fi9-ar aftfa o ofkg 8 95T Fad 0F 9 aw & aRafda
gem?

Which of the following codes will change by only one bit while incrementing or decrementing?

(a) &fa-3mudl/Binary (b) &RIE/BCD
(¢) F/Gray (d T BIE/One hot

frrafaf@a 7 ¥ FI9-91 T FAR FRYTS AR 82

Which of the following is a parallel interface standard?

(@) TUW=Ic/Ethernet (b) HRTHE232/RS232
(c) 3MSS3S5-488/IEEE-488 (d) HRTH485/RS485
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7. o G AT 3M3eqe & oRT S Feeare gaiite AT A R §2

What is the maximum number of digital inputs that a logic gate output can feed?
(a) T=@eMF/fan-in (b) TG HA/noise margin
(c) TeTAR/fan-out (d) Ta@iF/noise figure

8. fmfafda & ¥ Fi-a1 v grasgER ad &2

Which of the following is not a transducer?

(a) HRES/RTID (b) ~TMI-88YA JIA/Thermocouple
(c) TeEABSI/LVDT (d) oTERTTY/Thyristor
9. Ofeeax v T 39T & forw faear smar &

Peltier effect is used for

(a) dI9ATT Hdee/Temperature Sensing  (b) &1 Hace/Pressure sensing
(c) Fall HIY1/Energy measurement (dy e JUT Tele/Heating and cooling

10.  990Q 9feRIer arer Hfder Hiser X i T 1 10pA F 1mA TF do & o il
e gfoite & A & 9ReEda el

Calculate the value of shunt resistor required to extend the range of a moving coil meter of
resistance 990Q2 from 10pA to ImA

(&) 9900 ®) 99Q © 100 @ 9Q

11. 32 kHz ¥ 2 kHz e T & fAT 3P [Faw w&lq & Fog Rar & g w
fordir fPerT-wreiiy & Q e & Ay fecet JK fFara wallal (J=K=1& Iaa) 3 Fehida

RaT ST arfgu?

How many JK flip flops (with J=K=1) should be cascaded with Q output of one flipflop connected
to clock input of the next flipflop, to derive 2 kHz from 32 kHz?

(@) 4 ) 8 () 16 @ 32
12. % afdd & 99 U, g IR @ T9C & A & &G F 480 w9 T I UBR &
:ﬂﬁ@rﬁww%lmwgﬁ%ﬁm%‘?

A man has Rs.480 in the denominations of one rupee notes, five rupee notes and ten rupee notes.
The number of notes of each denomination is equal. What is the total number of notes that he has?

@@ 30 () 60 © 75 @ 90
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13. & RRu arc aRmer & v qur & & 3IR-UR $Hr gerEy arar & 9ar Sensv|

Find the effective capacitance across A and B in the circuit given below
3pF
Il
11

__|3 I Lé.
T~ -—m
3pF
| |
A B
(a) 11pF (b) 2/3pF (c) 3uF (d) 4pF
14. I HUIRT FT YR FERRT @ ¢ o Raw &1 9g a0 & qid 916 39 aRkuy &
arRT fordaT greii?
What is the current in the circuit immediately after the switch is closed if the capacitor is initially
uncharged?
/ 10Q
I
WT 3
(@ 100pA (b) 1A {(c) O0A d 4A

15. 125Q & freh fagpfy A @7 afeRier 4000 Hr ge7 Rfa % BT 1 ohm T wRafda

gar g o A5 geH 1 If the resistance of a 125  strain gauge changes
by 1 ohm for 4000 micro strain, then the gauge factor is:
(a) 2.5 (b) 1 (© 2 d 1.5

16. @ TcgdART Aol f&a a& gar 6 2
Which logic gate is having the following truth table ?

Saer/Input sty Output

A /B as/Y
0 0 1
0 1 0
1 0 0
] 1 1
(a) TUASI/AND (b) TFEINIR/XOR
() TFHAUAFIHR/XNOR (d) USUUAS/NAND
B 5 1401




17. 39 100 Q A9 & R gfaius « SvAvd & o AT fFar ST & ar 3@

g fRuY 9 & 90.23 Q W4T §1 g8 3IaoT &l
When a resistor of value 100 Q is measured with a DMM, it consistently reads 90.23 Q. The
instrument is

(a) EIﬁ'i!l?s."/Precise

(b) ITMA/Accurate

(c) qﬁ?ﬁ R T @i/Both Precise and Accurate

(d) o gRee & 3R & & TUrd/Neither Precise nor accurate

18. 5 gareAcHs Yats & afew §3 @S 3cae 1MHz ¥l 1 kHz W YaeseH S

yatis #ir afey gl

The gain bandwidth product for an Operational amplifier is IMHz. The gain of the Operational
amplifier at 1 kHz is

(a) 0.001 (b) 1 ) 100 (d) 1000
19. & grAr (Y @ &l & S ufea Aoe &, I g et o1 g
UHHAAE g o 39 W3 & afed o el

In a three phase power measurement by two wattmeter method, if both the watt meters have
identical reading, the power factor of the load is

(a) THh/Unity (b) 0.8 TTIMHI/0.8 lagging
(c) 0.8 3UIMHI/0.8 leading (d) YA/Zero
20. = RRw srv gfiyger &t ggaifawi/Identify the circuit given below
Ry Re

AAAA
¥y

1

l

AMA
v

R >
Vin te

i— =

1

Ri= 1kQ Ry=9kQ R=2kQ C=0.1yF R;= 10k

(a) e 9 & T F=0 HGfed-IR-fHee/High Pass Filter with gain 9
(b) @feY 10 T Y7 32T HGIeq-UR-fhect/High Pass Filter with gain 10
(c) wferod J&d Crl mq%r-w-ﬁ?aamow Pass Filter with gain 9
(d) @Sy 10 F T A7 HgfcT-IRF-eet/Low Pass Filter with gain 10
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21. I 7ET Thel & 9 faseE afei R Tha & 10 RseEt & woe § 3R qET whar @
gcdeh [asa 1R & O affer o &7 3«d ST e fRder gem?

What is the least count of a Vernier calliper if 9 divisions of the main scale is equal to 10 divisions
on the Vernier scale and each division in the main scale is 1mm?

(a) 0.01 mm (b) 0.1 mm () 09mm @ 10mm

22, frff@a & @ SiF-A1 WY A HT 3G FRAT §7?

Which of the following makes use of ferro resonance?

(a) Toprea E.’fﬁl‘:l’/Crystal oscillator

(b) @ freel/Notch filter

(c) 3afkadl dieedr ZIHWIFER/Constant voltage transformer
(d) TE AT Agerh/Pulse width modulator

23. i fRw I aRuy v wFw AWK ag Wgat & @ s e @ g o ¥ 39

TR ¥ JeiaAarel URT fhceh 87
An ammeter is connected between points X and Y in the circuit given below. What is the current
through the ammeter?
R
Vin R R

T gfcRrtes 100Q. V=10V §l
All resistors are 100Q). V,,=10V
(@ 01A

(b) 0.05A
@) 0A

(d) Auiia e foraT ST TehdiT/cannot be determined
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24.

25.

26.

27.

28.

Sreegell ¥ AT a1 ¥ A Rr e €1 i aHy A9EA 1ims ufa faeee §
IR deear @Aowa 100mV ufd Reea § O 39 alor & &0 & aftida wffcafda
foraenr &7
A waveform observed using an oscilloscope is given below. If the time scale is 1ms per division
and voltage scale is 100mV per division, what is the mathematical expression of the waveform?
£\ £\ 7\ £\
N NS NS
(2) e=0.4sin(1000xt) (b)  e=0.4sin(500mrt)
(¢) e=90.25in(1000mxt) (d) e=0.2sin(500xt)
UF Ve AT aRO T ST 39T &7
What is the use of an emitter follower circuit?
(a) & wgHe/Differential Amplifier
(b) s FrlsE A YYUR/Bandwidth improvement
ORRIGEL ﬂﬁ'&lﬂ/lmpedance matching
(d) dieedr 9941/ Voltage Amplification
T 1/3 + 1/4 + x = 712, x FT A foramr 87
Given, 1/3 + 1/4 + x =7/12. What is the value of x 7
(@ -l1/12 () 0 (© 1/12 d 712
fly 8:1 sgEhas & fav fhae 79w fael $r smavahear &2
How many select inputs are required for a 8:1 multiplexer?
(@ 1 (b) 3 (c) 4 @ 8
faega-aifyha Rer & sgat oa-3ravd Re & o fef@a & 9 sia-a &7
Which among the following are the advantages of Solid state relay over electromechanical relay?
() % Aer FEau=/Faster switching
(i) dedN fe=T/Galvanic Isolation
(iii) 3TOAGR UdlelT/Bounceless Operation
(iv) DIET 3I/Small size
(a) (i) dYl/and (ii) ATd/only (b) (i) ATH/only
/(r;) (1), (ii), (iii) TYUT/and (iv) (@) (), (iii) dAT/and (iv) ATF/only
8 1401




29.

30.

31.

32.

33.

SUAAT TEAT 110 T N2 3l ureg & Sefo|

Convert the decimal number 110 to hexadecimal format

() 06 (b) 6D () 6E (d) 6F

AEhe F g9y H fAafaf@a & 9 Fia-ar w@r §7
Which among the following is true for a MOSFET?
(a) T O ﬂﬁ'?r/(lurrent controlled device

(b) dreear HART ﬂﬁ-?T/V oltage controlled device
(c) fawT Oder afde/Low input resistance
(@ g & &9 #& ggad 7@ féhar T FeRdT/Cannot be used as a switch

4.096V & TOT Thel I A I orell 10f9T o o fseer fopaar g@hom?
What will be the resolution of a 10 bit ADC with a full scale range of 4.096V?

(@ 10mV (b) 40mV () 4mV @ 04mV

I FF GFRIY 10K § o RE 7w A9 & & ar @ & 3R-9R Reaandy & sfaky
fohaaIr BIem?

What will be the resistance of the potentiometer across B and C in the given figure, if its total
resistance is 10 kQ?

@) Sk b) 6kQ ) 10kQ @ 3kQ

AT Agfed T R=100 Q @7 25 Q@ & RO wfamd ¥ g9 s@ar IRvaw
IRy & A R aRarvfaad @uifa #

Determine the capacitive reactance at resonance, in a series RLC circuit with R=100 Q and
inductive reactance of 25 ( at the resonant frequency

() 1000 ®) 25Q © 750 @ 125Q

9 1401




34. el W @ 0.8 m/s T & ¥ RN Sgar 1 AR FETA AT # I FE 8T T
& U 9 U JHER F § dl Aol § T feasher S afd = e

Water travels through a hose at 0.8 m/s. If the cross sectional area of the exit nozzle is one fifth of
the hose, at what speed water exits through the nozzle?

@) 0.16m/s (b) 0.8m/s € 4mis @) 20m/s

35. FRHr RoHS 3ieiei 3Ua0T 3 Fafafld # & ia-81 9ard 3Hepicd &2
Which of the following substances is allowed in RoHS compliant equipment?

(a) *IS/Lead (b) 9RI/Mercury
(¢) FFATA/Cadmium (d f&=/Tin

36, P UFHF 05V ¥ Y ¥ v 4.8 v & B9 &ar §1 39 yade & afsw 10 § @Y
st T 3TRAT aleear fhash g1el?

What is the output offset voltage of an amplifier which gives an output of 4.8 V for an input of
0.5V? Gain of the amplifier is 10.

(a) 20mV (b) -20mV () -200mV (d 200mV

37. frll vaeEcRe  vats  @Afem A, R ufRivw @ IeReaer Owo
# varfed & Sl g

In an Operational amplifier integrator, the current through the input resistor flows into the
(2) wfaa#r fae/Inverting input (o) 3=fa«FEr f32/Non inverting input
(c) ﬁ'gma TEMRH/Decoupling capacitor  (d) tl__,?-ﬁ&TUT Tenfy=/Feedback capacitor

38. sin (270° + @) T AT gl
The value of sin (270° + 8) is?
(a) cos@ (b) —sin® (¢) sinB (d -—cosb

30. o B Aq Reewdr 1 PR smiea 100Hz & @ seR fEA gl
gl

If the input frequency of a bridge rectifier is 100Hz, its output frequency will be
(a) 50Hz (b) 100 Hz (¢) 150Hz (d 200Hz

40. FpEr e afeear Feurl TEHER @ gUiE U 41 Bl 38 120V $AYE IO W
JsT T ¥ gfadE® W 100 ohm dis SfeRit® ¥ JeRAaren GRT fhde g

An ideal voltage step up transformer with 4:1 turns ratio is connected to a 120V input supply.
What will be the current through 100 ohm load resistor at the secondary?

@) 12A () 03A () 48A @ 18A
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41.

42.

43,

44,

45.

46.

47.

50 wieraeh #1 sgfed #1 uReeer HfT fowd i @7 F TAT 2 ms AR 3% B
H GFT 3 ms Bl

Calculate the frequency of the pulse train with 2 ms ON time and 3 ms OFF time.

(a) 500 Hz (b) 333Hz (¢) 200Hz (d) 2Hz

T & & Sia-ar v Terl e FE 87
Which of the following is not an LC oscillator?

(a) HiciTae/Colpitt (b) HﬁEi?T/Armstrong
(¢) &1 9T/ Wien Bridge (d) @gEel/Hartley

100 Toial #r frer SEeh @ a0 $ Jehrr @l # e @ W Fear wiev afs
100V #r dreear IRa & ST FqH?
At what rate should a coil of 100 turns cuts magnetic lines of force to induce a voltage of 100V

() 1 Wb/min (b) 60 Wb/min
(c) 100 Wb/min (d 10000 Wb/min

R e HA F B, SN, o AW W & 1 F e qBF A g ARG F a9
TIET 1 AT S TAT TR HfOwdA BeRer ((ead § diftean) fhaer &2

What is the maximum variation (minimum to maximum) that is expected while measuring a large
collection of resistors with marking bands of yellow, violet, brown and gold in the order given?

@ 5Q (b) 23.5Q © 470 d 470Q

0oC W R ReH ufRy aUAe TgEe & 9y 1000 § 3R 04 Q/C &
AT IO ¥ e 39 Rl was W e S §oar 9% 120 @ & ey
feraren §1 39 WAE W ANAE R §7

A platinum Resistance Temperature Detector has resistance of 100 Q at 0°C and temperature
coefficient of 0.4 Q / °C. When it is pasted on a surface it shows a resistance of 120 €. What is the
temperature of the surface?

(8 -50°C (b) 40°C () 50°C (d 250°C
forlY BT &7 JTUR 9% 25 cm2 ¥l 3R Aaad gl
Given, base area of a cube is 25 cm?. Then, its volume is

(@) 50cm’ (b) 100 cm’ (c) 625cm’ (d 125cm’

9 7. &r diars 3R 24 A ¥ FO$ & FD SR F 10 A TEWE TF qA F W

ST ¥ 37 &7 & deT & T & GReherd S|

A tank of width 9m and length 24m is filled with water to a depth of 10m. Calculate the pressure at
the bottom of the tank

(a) 98Pa (b) 760 Pa (c) 10000 Pa (d) 98000 Pa
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48.

49,

50.

12V ms & Tl @l Suah Gdd & guR a9 3 Ted e seare el e
fesewlt & Il TRt @1 aRwest ST (3mEd sris 7= i)

Calculate the DC output of a half wave rectifier used to rectify an AC sinusoidal signal of 12V mms
(assume ideal diode)

@) 5.4V (b) 17V ) 3.8V @ 108V

Y e v Ry 7 foefa diecar fraeh 22

In the circuit given below, what is the output voltage?

oV
R
Wy
2R
2R > ¢
(a) 25V (b) 2.5V | () -5V @ 5v

ﬁhm%ﬁ,m%%mm%;uﬁmmm
(Vee) % 3R-9R aleedm a1 4V § & 3rfY Jamgs URT & 9ar o9msu| (A ST fF

B 5ga &3 &)
In the circuit given below the bias resistors are as shown, find the DC collector current if voltage
drop across collector and emitter (Vcg) is 4V (Assume B is very large)

R;=47K, R;=10K, Rc=8209, Rz=180Q Vcc=9V
(a) 9mA (b) 8mA ) TmA d) S5SmA
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51.

52.

53.

54.

A U v aRgy &, Iy st fr we g deear 0.7V R O uiRus o afg
glarelt ofd fpaen &7

In the circuit given below, what is the power dissipated in the resistor if the diodes have cut in
voltage of 0.7V?

3.9vVE 1kQ % R
(@ 6.25mW (b) 2.5mW () 39mwW (d 33mW
TR 3 & i, § TeReaTe) RART Rl §7
Under steady state, what is the current through Ry?
1ko 0.1pF
e |
5v B ko $R2 1ko } R3
(a 33mA (b) S5mA () 25mA (d OmA

frelr 219 degeT YHR & oA Y HdgerRierar 50 mv/g ¥l TRESTER S5g & AR
AT & 3N ¥ 3 cavorETdy & oRtE feaer §2

A piezo electric type accelerometer has a sensitivity of 50 mV/g. The transducer is subjected to a
constant acceleration of 5g. What is the output of the accelerometer?

(a) 250mV (b) 500mV {c) 100mV (d 50mV

e AH-E AR S ol F Rpaa B sl B gwar 80% ¥ AR AR
39T 1.6 KWh ¥ of 39 $@aX & foU 3nf@a 40v defr &1 Ah IR frgar ae
TIfgu?

What is the Ah rating of a 40V battery required for an inverter with efficiency 80% used in house
hold off-grid solar power system if the daily consumption is 1.6 KWh?

() 32Ah (b) SOAh (c)  100Ah (d) 128Ah
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55. ¢ Rufd W Rl s Reums geaggm & @E 0.4V &l IRk 2mm F fav
Rt 1.1V E o smm & Reymw & v fete frder gem?

A linear displacement transducer has an output of 0.1V at null condition. If the output is 1.1V for
2mm, what will be the output for a displacement of 8mm?

(a) 4.1V (b) 4.6V € 4.0V d) 44V
56. T& ppm % % ST gl

One ppm is equivalent to %?

(a) 0.0001 (b) 0.001 () 001 d 01

57. afE we wiawenl &1 A 3Q § af U a1v qitqy & aRT 1 T uar «emsel

Find the current I in the given circuit, if all resistors are of value 32

(@ 0A ® 15A
() 05A (d AH ¥ UH Y TEl/None of these

58. SHEr AT 0001 0010 0101 FT A-3MUY FAFET fohcrr 872
What is the binary equivalent of the BCD number 0001 0010 01017

(@ 00101001 (b) 0011 0101 () 11111010 (d) 01111101

59. el g faegd o HSgEY 1 Y Faeaiear 20 pC/N | 38 T T Fatiw
¥ ST Sr ¥ 3R 3T TeSYER US AN YeUE &7 Fel Afew 50 mV/N & A e
vatis iy dfe gl

If a piezoelectric force transducer of charge sensitivity of 20 pC/N is connected to a charge
amplifier and the overall gain of transducer and charge amplifier is 50 mV/N, then the gain of the
charge amplifier is:

(& 2.5mV/pC (b) 4mV/pC (¢) 1mV/pC d 15mV/pC

B 14 1401




60.

61.

62

63.

65.

66.

frafafaa gFadl & 3 Fia-d@ a8 Taeae URT # 3 Rada S Ay 82
Which among the following devices oppose sudden change of current through it?

(@) |ETR=/Capacitor (b)  SHEIS/Diode
(c) 9R#/Inductor (dy ¢IfSEeX/Transistor

el 20 V Ivag | 10 mA &7 3EYRT WIed @ & AT 1.8 VH Fe S dloear o
IFd T TS & AU 3nfEa swen wfakus & AW @1 e A

Calculate the value of the series resistor required for an LED with cut in voltage of 1.8V to get a
forward current of 10mA from a 20V supply.

(a) 2kQ (b) 1.5kQ (c) 1.82kQ @ 8200Q

g8 dvA Sia-ar g, ad e aur 3999 W # #3 We] aar £

The temperature at which Farenheit and Centigrade scale reads the same value
(a) -40

(b) 32

(c) O

(d) =3 @AY A& 81 WFHAT/can never be the same

0-200 V IS & TRl diecsliey & andiar 3u% Q¥ hel # 0.75% &1 IR 50 Vv F
AT & IHH ST R Sl &t AT B % I et @i

A Voltmeter of range 0-200 V has an accuracy of 0.75% of its full scale. If it is used to measure
50 V, what will be % error in the measurement?

@) 2% ) 3% © 15% @) 0.75%

50 Hz Woes & fRell Tt Al Y 1500 ipm W Tew F T 359 fFas 9w 2 TR
How many poles should be there for an AC motor to run at 1500 rpm from a 50Hz supply?

@ 2 (b) 4 () 10 d 8

Ty weher TRoT 3erfevse S TatiE A T Icheieh 3UTY TR T &7 1 F8a £7
What is the effect of putting an Emitter bypass capacitor in a single stage Common Emitter Amplifier?
(2) 3R Ay wfcRtr gear g/DC Input resistance decreases

(b) TH AfST Fgdr §/AC gain increases

(c) T afey "edr &/AC gain decreases

(d) IS T FEI/No effect

[(sinx — cosx)dx ¥T HT gl
The value of [(sinx — cosx)dx is

(@) sinx 4+ cosx (b) —cosx — sinx (¢} —cosx +sinx (d) 0

15 1401
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67. HWAEE 4 ¥adl #HI 3 FAR UFadl # Mg &5 7 Rt T &1 CRRR 3R
IfEar fraer gen? Safes ucds da $F AUear 1.5V, 2Ah Bl

What will be the Ampere hour rating of a battery formed by connecting 3 parallel rows of 4 cells in
series, if each cell is rated at 1.5V, 2Ah?

(@) 2Ah (b) 6Ah () 8Ah (d) 12Ah
68. et 1 THIE Yore A Yoy IHfRHaE weled H I gl
In SI system of units, the unit of magnetic flux density is
(a) <Tell/Tesla (b)  AST/Weber
(c) #AFTdel/Maxwell (d)  IM3F/Gauss
69. WICRYY a9 FFH (IRAD) H AURVTAT TFFA 1 gl
The most commonly used metal in Resistance Temperature detector (RTD) is
(a) UIAAIA/Aluminium (b) BAT/Gold
(c) velfed#@/Platinum (@ 9enf3aF/Paladium

70. RS H Mol 3 Sl TH FoA$ Y A5 dleedl Fa fhcelr 37
What is the approximate line voltage in domestic 3 phase AC supply in India?

@) 230V (b) 208V () 277V d) 400V

71. @I & 52 Ucdi H ¥ IRo® T U UF Ucdl AFm A0 @Y 39 9cd &7 dgiarer
(T, T AT IS @A B G e § 2

One card is drawn at random from a pack of 52 cards. What is the probability that the card drawn is
a face card (jack, queen and king only)?

(&) 113 (b) 3/13 ) /4 (& 9/52

72. HahE 81T & AGA g fAriaf@a # @ frger s9Aer KA S g7

Which among the following is used to measure magnetic field?
(a) FIeIgiel/Magnetron (b) TAHIAR HITI/LCR meter
{c) &icT YT Tageh/Hall effect sensor (d) Fqu-ﬁa}gH HAgeH/Pyroelectric sensor

73. T&H 8085 AZHMAITR H, fRdr iftkdm frar & 9o @ HERUT FAarear e

&1 In 8085 microprocessor, the register which stores the result of an arithmetic operation?

(2) ATIH/Accumulator (b) TEF WSFeI/Stack Pointer
(c) WRITH HI3eT/Program Counter (d) TSFET d/Register B
B 16 1401




74.

75.

76.

77.

78.

79.

30.

fFrfaf@a # @ Fia-a1 & RFeuds geaggat 37

Which of the following is a displacement transducer?

(a) UfATEY/Thermistor (b) TANHE/LVDT
(c) YT TIfeTEe/Photo transistor (d) HREOS/RID

& AT g ERAET H 3T A ST

Tachometer is used to measure

(a) ﬁé?/Torque (b) =T Hr ?I'é' E{?I‘/Distance travelled
(¢} <TdIVT/Acceleration (d) Ejjﬁﬂ' #$r ﬂﬁ-’l’/Speed of rotation
fafeor aiRieier &1 a1 R 9 i g1

Working principle of radiation pyrometer is based on
(a) TSFA-SlecHATA AaH/Stefan-Boltzman law
(b) fR@F ATH/Kirchoff’s law

(c) &% WHTA/Seebec effect

(d) 9fecax waT/Peltier effect

v IRNGOT yatie Fdr 3T gIaugie g
An instrumentation amplifier has high
() faRtH gfaem/Output impedance (b) T wAfetT/Power gain

(c) HWTANIIR/CMRR (d) Toag deedl/Supply voltage

Pl A 3uERT T ARG fRr o1 TdSaer @EY ®ler gRadd

&1/ The smallest change that can be measured by a measuring instrument is

(@) tlﬁ"\’EFIT/Precision (b) e/ Resolution
(¢) &gei/Threshold (d) WﬁHT/Accuracy

T 8085 ABH WAW H fraw oY HaRTa g &2

How many maskable interrupts are there in 8085 micro processor?

(@ 2 (b) 4 ) 6 (& 8
gl degd gAggER & AT 9 H # gRafda #ar gl
A Piezo electric transducer converts pressure or force into
(a) #RT/Current (b) dlecdr/Voltage
(c) ﬁajg?-r TToi/Electric charge (d) ?_-Iailﬁ'ﬂ &84/ Magnetic field
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= v & faw wae / Space for rough work
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F= H1 % {1 wm / Space for rough work
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w4 [l % ferg wam / Space for rough work

1v4
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